
Nombres Décimaux (C)
Trouvez chaque différence.

5,3 - 0,42 = 45 - 0,81 =

7,5 - 4,2 = 6,8 - 0,19 =

8,1 - 4,4 = 0,79 - 0,25 =

43 - 3,1 = 5,7 - 0,8 =

62 - 7,8 = 0,6 - 0,21 =

72 - 0,62 = 8,9 - 0,86 =

9,7 - 0,38 = 42 - 8,1 =

7 - 1,6 = 35 - 0,43 =

7,8 - 0,83 = 31 - 4,8 =

3,1 - 0,64 = 0,9 - 0,17 =
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Nombres Décimaux (C) Solutions
Trouvez chaque différence.

5,3 - 0,42 = 4,88 45 - 0,81 = 44,19

7,5 - 4,2 = 3,3 6,8 - 0,19 = 6,61

8,1 - 4,4 = 3,7 0,79 - 0,25 = 0,54

43 - 3,1 = 39,9 5,7 - 0,8 = 4,9

62 - 7,8 = 54,2 0,6 - 0,21 = 0,39

72 - 0,62 = 71,38 8,9 - 0,86 = 8,04

9,7 - 0,38 = 9,32 42 - 8,1 = 33,9

7 - 1,6 = 5,4 35 - 0,43 = 34,57

7,8 - 0,83 = 6,97 31 - 4,8 = 26,2

3,1 - 0,64 = 2,46 0,9 - 0,17 = 0,73
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